
Subtracting Decimals To Hundredths (A)

Calculate each difference.

6.05 − 4.40 = 4.43 − 1.24 =

9.16 − 9.03 = 6.47 − 2.90 =

9.38 − 2.98 = 3.38 − 1.08 =

8.52 − 5.25 = 7.49 − 6.54 =

9.79 − 4.33 = 7.90 − 6.69 =

5.28 − 4.22 = 8.68 − 5.41 =

6.87 − 6.30 = 2.98 − 1.90 =

8.62 − 3.97 = 5.59 − 3.95 =

9.62 − 6.28 = 9.23 − 2.29 =

9.89 − 7.59 = 5.02 − 1.50 =
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Subtracting Decimals To Hundredths (A) Answers

Calculate each difference.

6.05 − 4.40 = 1.65 4.43 − 1.24 = 3.19

9.16 − 9.03 = 0.13 6.47 − 2.90 = 3.57

9.38 − 2.98 = 6.4 3.38 − 1.08 = 2.3

8.52 − 5.25 = 3.27 7.49 − 6.54 = 0.95

9.79 − 4.33 = 5.46 7.90 − 6.69 = 1.21

5.28 − 4.22 = 1.06 8.68 − 5.41 = 3.27

6.87 − 6.30 = 0.57 2.98 − 1.90 = 1.08

8.62 − 3.97 = 4.65 5.59 − 3.95 = 1.64

9.62 − 6.28 = 3.34 9.23 − 2.29 = 6.94

9.89 − 7.59 = 2.3 5.02 − 1.50 = 3.52
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